
Lakemont Shuffleboard 7pc Dining set
Model Number: GC-31025-7pc 

THIS ASSEMBLY MANUAL CONTAINS IMPORTANT SAFETY INFORMATION. 
PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Assembly Manual

               Customer Assistance (spare/replacement parts): 
                       Service Number: 1-888-691-2824 or 
Service Email address: customerservice@coronadocasuals.com

               Warning: Do not play in windy weather

Two or more audlts required assembly



Important Safety Information
Please read all instructions carefully before assembling this furniture. 
For your safety, assembly by two or more adults is strongly recommended. 
Use only vendor-supplied hardware to assemble this item. Using unauthorized 
hardware could jeopardize the structural integrity of the item.
Hardware may loosen overtime. Periodically check that all connections are tight.

Remove all parts and hardware from the box. Place all items on a carpeted or 
scratch-free work surface, as this will avoid damaging parts during assembly. 
The shipping box provides an ideal work surface. 
To avoid accidentally discarding small parts or hardware, do not dispose of any 
packaging or contents of the shipping carton until assembly is complete. 
Use the parts and hardware lists below to identify and separate each of the 
pieces included. 
The use of power tools for assembly is not recommended. Power tools can 
damage the hardware.
Note: Do not fully tighten all bolts until all parts are in place. Failure to follow 
these instructions may cause the bolts to misalign during assembly.

Before Assembly

Dust often and use a vacuum cleaner crevice tool to clean seams. To maintain 
the woven appearance, gently clean soiled areas with a soft cloth dampened 
with a mild, water based detergent. Remove all lather and wipe with a clean 
damp cloth. Dry with another soft cloth by blotting the damp surface (do not 
rub).

Care and Cleaning



Shuffle board table

A.......Shuffle board table top.......1
B.......Shuffle boad table leg.........2
C.......Table leg panel-Upper.........3
D.......Table leg panel-Under.........2
E.......Dining table top........1
F.......Dining table leg........1
L.......Black puck.......4
M.......White puck.......4
N.......Shuffleboard Wax.........1
O.......Brush........1 
P.......Gradienter ........1

A C

Components

Need Assistance? Visit us at: samsclub.com/membersmarkhelp

DB

Q.......Bag for shuffleboard parts........1
R.......Triangle......1
S.......Bowling Pin......10
T.......Bowling Ball......1
U.......Bag for Bowling set......1
V.......Furniture cover........1
W......S-Hook........1
X...... Scorer........2
AA...... Left Sliding rail........1
BB...... Right Sliding rail........1

E

M NL O

F

S

T

RQP

U V W AA BBX



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Hardware

(J)
M6 Washer
Qty: 50

(H)
Allen/Hex Bolt
M6x30mm
Qty: 8

(I)
Allen/Hex Bolt
M6x70mm
Qty: 16

(K)
Allen Wrench
Qty: 2

(G)
Allen/Hex Bolt
M6x20mm
Qty: 26

(Z)
Screwdriver
Qty: 1

(Y)
Flat Head Bolt
4x40mm
Qty: 4



Carefully place shuffleboard table top (A) upside down a soft, flat and non-abrasive 
surface.
Attach the table legs(B) to table top (A) with bolts(H&I) and M6 Washer(J) by using 
M6 Allen Wrench(K).
Do not tighten the bolts until assembling is completed. 

Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Step 1

(J)
M6 Washer
Qty: 10

(H)
Allen/Hex Head Bolt
M6x30mm
Qty: 4

(K)
M6 Allen Wrench
Qty: 1

(I)
Allen/Hex Head Bolt
M6x70mm
Qty: 6

B

I
J

A H
J

I
J

I
J

HJ HJ



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Step 2

G

G

J

J

G

G

G

J

J

J

I

I

J

J

I
J

C

C

C

D

D

Attach the Upper table leg panels(C) to shuffleboard table legs (B) with bolts(G&I) and M6 
Washer(J) by using M6 Allen Wrench(K).
Attach the Under table leg panels(D) to shuffleboard table legs (B) with bolts(G) and M6 
Washer(J) by using M6 Allen Wrench(K).
Tighten all the bolts with M6 Allen Wrench(K).

(J)
M6 Washer
Qty: 20

(I)
Allen/Hex Head Bolt
M6x70mm
Qty: 6

(K)
M6 Allen Wrench
Qty: 1

(G)
Allen/Hex Head Bolt
M6x20mm
Qty: 14



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Carefully place dining table top (E) upside down a soft, flat and non-abrasive surface.
Attach the dining table leg(F) to dining table top (E) with bolts(G&H) and M6 
Washer(J) by using M6 Allen Wrench(K).
Tighten all the bolts with M6 Allen Wrench(K).

Step 3
(J)
M6 Washer
Qty: 16

(K)
M6 Allen Wrench
Qty: 1

(G)
Allen/Hex Head Bolt
M6x20mm
Qty: 12

(H)
Allen/Hex Head Bolt
M6x30mm
Qty: 4

GJ

G
J

G

G

J

G

J

H

E

F

J

H
J

G

J H
J

HJ

J



Step 4

AA

AA

AA

BB

1
2

IMPORTANT

Carefully turn the shuffleboard table over.
Insert the Left Sliding Color Coded Rail (AA) into left AA chute.
Insert the Right Sliding Color Coded Rail (BB) into right BB chute.

Both mating rails & chutes for AA-AA and BB-BB must be on the same side of the table 
and shuffleboard for correct installation.

Need Assistance? Visit us at: samsclub.com/membersmarkhelp



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Step 5
(J)
M6 Washer
Qty: 4

(I)
Allen/Hex Head Bolt
M6x70mm
Qty: 4

(K)
Allen Wrench
Qty: 1

Carefully turn the dining table top over.
Attach the dining table top to shuffleboard table with bolts(I) and M6 Washer(J) by 
using M6 Allen Wrench(K).
Tighten all the bolts with M6 Allen Wrench(K).

I
J

I
J



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Step 6

Attach the Scorers (X) to shuffleboard table with Flat Head Bolts(Y) by using 
Screwdriver(Z).
Tighten all the bolts with Screwdriver(Z).

(Y)
Flat Head Bolt
4x40mm
Qty: 4

(Z)
Screwdriver
Qty: 1

X

X

Y
Y



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Step 7

The shuffleboard table is ready for your enjoyment.
If the stools and table is uneven, you can adjust the feet to make it even.

Place shuffleborad accessorices included 4pcs black puck(L), 4pcs white puck(M), 
1pc Shuffleboard Wax (N), 1pc Brush and 1pc Gradienter on Shuffleboard parts 
bag (Q).

When not playing games, please store the Shuffleboard parts bag (Q) and Bowling 
Set Bag (U) on the Scorestick using S-Hook (W).

Q

U

W

S

R

T

L

M



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Warranty
The game play is suitable for people over 14 years old and DO NOT 
play in windy days.

For maximum protection, use Heavy Duty Furniture Cover (V). Fasten adjustable cord
lock to secure the cover from wind and snug fit.

V

Furniture Cover



Need Assistance? Visit us at: samsclub.com/membersmarkhelp

Shuffleboard game play
Sprinkle included playfield Wax(N) on the surface. This will allow the weights/pucks to 
glide smoothly across the surface.

Players alternate sliding each of their 4 weights across the board (L&M). The goal is to get 
your weight to stop as close to the end of the board in the highest scoring zone, without 
falling off into the alley.

Players alternate shots until the round is over and all eight weights have been shuffled
across the table. The score is then taken for the round and play continues from the other 
side of the table.

Scoring
Pucks can only be scored if they are further down the board than all of you opponent’s 
pucks, meaning only one person/team can score in a round, All pucks that are past the 
opponent’s pucks are ded up and that is th winner’s score for the round.

The entire puck must be over the scoring line to count for the higher point value.
If any part of the puck is hanging off the end of the board, it is called a “hanger”, and is 
worth 4 points.

The game typically continues until someone reaches either 15 or 20 points. These winning 
point values are marked with alternate color scoring beads on the slide scorers.

GAME RULES



Bowling game play
A game of American ten pins consists of ten frames. A player delivers two balls in each of the 
first nine frames unless a strike is scored. In the tenth frame, a player delivers three balls only if 
a strike or spare is scored. Every frame must be completed by each player bowling in regular 
order.

KEEPING SCORE – Except when a strike is scored, the number of pins knocked down by 
the player’s first delivery is to be marked next to the small square in the upper right hand 
corner of that frame, and the number of pins knocked down by the player’s second delivery is 
to be marked inside the small square. If none of the standing pins are knocked down by the 
second delivery in a frame, the score sheet shall be marked with a (-). The count for the two 
deliveries in the frame shall be recorded immediately.

STRIKE – A strike is made when the full setup of ten pins is knocked down with the first 
deliver in the frame. It is marked by an (x) in the small square in the upper right-hand corner of 
the frame when it was made. The count for one strike is 10 plus the number of pins knocked 
down on the player’s next two deliveries.

DOUBLE  – Two consecutive strikes is a double. The count for the first strike is 20 plus the 
number of points knocked down with the first delivery following the second strike.

TRIPLE OR TURKEY  – Three successive strikes is a triple or turkey. The count for the first 
strike is 30. To bowl the maximum score of 300, the player must bowl 12 strikes in succession.

SPARE  – A spare is made when the second delivery knocked down all the standing pins, and 
the score sheet shall be marked with a (/). The count of a spare is 10 plus the pins knocked 
down in the following delivery.

Need Assistance? Visit us at: samsclub.com/membersmarkhelp


